Click highlighted text for
Pump Breakdown

EXWGV2121-1
2100 psi @ 2gpm

Pump Information:
Engine Information:
Frame Information:
4
[
*
Hardware Information:
Foot:
Engine/Pump to Frame:
Accessory Information:
[
[
Manual Information: [

Included in Pump Kit
Included in Bagged Parts

+eO

For replacement pump, u

Part Number Description
PK17995 ..t Pump, Kit- Faip
17658...... ..Thermal Relief Valve
TB33B0 i Vinyl Cap
17063...... ...Swivel, Garden Hose-taped
17999 ..o, Swivel, taped
17863 ..... .Swivel , 22mm
TT982 e e 0O-Ring
17835 ... Extension, High
17823 Extension, Low
HOBT et Swivel Nut
F187 ... .Garden Hose Screen
TT8B7 s Rubber Grommet
T8O42 e Adapter 3/8NPT
12H802-2349-E1

15294

16255

17996

16371

Sy E Handle, Bagged

17367 .. ...Hand Grip, Rubber (qty 1)
CO42 ... Knob (2)
17619... ..Tire, 8” x 2.25
WABT e Pal Nut (2)

CO4T Insert, Nut 5/16”

F064 (gty1) .... ..Hx Hd Screw, 5/16-18

F112 (Qty 1) e Flat Washer, 3/8”
WABT (Y 1) e Tee Nut
16087 (LY 3) ceeeeeerreeieeeeee e Flange Head Nut
FO74 (Qty 3)ueeeeeeerieenieesee e Flat Washer, 5/16”
F196 (Qty 2).eccveeeereeeieneerieeene HHC Screw, 5/16-18 x 1-1/2”
F101 (ty 1) weeeeeieeceienee. Screw, 5/16-18 x 2-3/4” HxHdCp
17781 e, Hi Pressure Hose, 1/4” x 25ft-

2250 psi 22mm x 22mm
Wand/Multi-Reg
Trigger Gun, 22 mm x 14 mm-

3200psi
15231 o Chemical Hose
Bagged Parts
Cleaning Tool

18797 e Wrench, Allen
(D2 LT 7 Manual, General-

English/Spanish
15985 s Manual, Engine

Included in Bagged Handle
Will require special tool for assembly-see Service Flash section of this manual.

se PK18105

PW-MANUAL

March, 2002
Tab: EX


Will Hough
Callout
Click highlighted text for Pump Breakdown

http://shoppingcart.msservicecompany.com/msservice_net/product_files/PK17995/pk17995.pdf
Will Hough
Highlight




